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1. (1) [ (x+y)ds L 0(0,0), A(L0), B(0,)
(Z)Ilylds L X2 +y? =1
3) .|L-| x| ds L X234 y2® = g2
(4) JL.lxldS L (X2 +y?)? = x2 — y?
L

(5) I(xz +y*+2z%)ds L

X =acost,y=asint,z=bt,0<t <27
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6) | xyzds L X=t,y= ,7=—t?
( ){ y y="3 >
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(7) _[(xy+ yz + zx)ds L x> +y*+z°=a’
L
X+y+z=0

1 [(x+y)ds=[(x+y)ds+ [(x+y)ds+ [(x+y)ds
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2 [Iylds=["fintjdt=4
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3 x=acos’t,y =asin®t ds = 3a[sint cost|
1 4 4z 4
I|x|§ ds = 3a3 _[2”‘sintcos2 t‘dt =12a3 j 2sintcos? tdt = 4a3
i 0 0

X =+/C0S 26 cos
y =+/c0s28sin@

_afe 2 240 _afs _
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L r? = cos 26
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5 I(x2+y2+22)ds
L
= joz”(a2 +b’t*)Va® +b’dt = 2?”(3a2 +47°b?)Wa’ +b?
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6 [xyzds == t241+2t+t2dt="—
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xy+yz+zx:%[(x+y+z)2—(x2+y2+22)]
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j(xy + Yz +2X)ds = —a—de =’
L 2 L

X =acost,y=bsint,0<t <27 M(X,Y)
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= 4a2 y a:b
2 [h2 2
2b? + 2a’b Ianr b” —a . a<b

(1) z=axy x> +y>=a’ (a>0)
1
(2) x2+y2:§z2 X+y+z=2a (a>0)
(3) x?+y?+z2=a’ z=xX"+Yy?
4) x> +y®=a’ X+2=0,x-2=0(x>0,y>0)
(5) x* +y? =2az (x* +y®)? =2a’xy (a>0)

X = (b+acos¢)cos e,
(6) y=(b+acosg)sing, 0<¢p<27,0<p<2rx O<a<b
Z =asing,

1 A= ”\/1+ a%(x% + y?)dxdy

D
V4 a 2
:jj d¢9'|‘0\/1+ a’r’rdr =3a_7[2w(1+ a*)® -1




2 z
x> +y*—xy+2a(x+y)=2a’

Xy
D={(x,y)‘(x2—xy+y2)+2a(x+y)32a2}
{x:u+v
D
y=Uu-v
={(u,v)‘(u+2a)2+3v2s6a2}
oxy) _
o(u,v)
A= _U [1+2,7 +2,%dxdy = ﬂ 2dxdy :” 4dudv = 8+/37a’
D D D'
3 Xy D:{(x,y)| x2+y2£a—22}
A= 'LI 1+2,° +2z, dxdy = ”mdxdy
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A={[ 1+y;2+y;2dzdx:ﬂ\/f7dzdx [Tax[" \/7dz=2a2
D D va — a. —X

5 (x® +y?)* =2a’xy r’ =a’sin20
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A= 2”,/1+ z,? +17) dxdy = 2”111+ X ;y dxdy
D D
:gjidgja 20 Ja? +r2rdr =Ea2J'E[(Sin9+COSH)3 ~1]de
a Jo 0 3 Jo

=%(20—37r)a2

X; =—asingcose,y; =—-asingsing,z, =acos¢
=—(b+acosg)sing,y, =(b+acosg)cose,z, =0

E=a’,G=(b+acosg)’,F=0

A= [[VEG - F2dgdp = joz”d(pjoz”a(b +acosg)dg = 4z%ab
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(1)”(x+y+z)d8 > x> +y’+z°=a®> y<0
2

(2) ”.(x2 +y%)dS > {(x,y, )X} +y? <z<1}

) [[oy+yz+ds 3 2= X2 1y X% +y? = 2ax
z
1
(4) ”mds > x> +y*=a’ 7=0
z
z=H
X2 y2 Z2
5 2 42 42 ds x> +y? 7% =a’
2 3 4
z
(6) ”(x3 +y°+ z)dS > 22=x"+y* z2=0
z
z=8
(7) szS > X=Uucosv,y=usinv,z=v,0<u<a
z
0<v<2r
1

H(x+y+z)dS ”de— ”\/a -x*-z ﬁdzdx

= —7za3

2 T z=4X 4y 2, 2=l (X + Yy <))
[Joc +y?yds = [ +y?)ds + [[(x* + y*)ds
z 21 E2

= (W+2)[, " dof ridr =1+£/§ﬂ
3 ”(xy+ yz +zx)dS = ”[xy+ (X+ y)x* +y? ]x/idxdy

= \/EF” (sin@cos @ + cos @ +sin 9)do9j02acow ridr

= 44J2a* [ 2, cos® o =%\/§a4
2
4 T ix=4a%-y? 2, ix=—/a’-y?* (0<z<H)
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7 X! =cosv,y, =sinv,z, =0,x, =-usinv,y, =ucosv,z, =1
E=1G=1+u? F=0

J;I zdS = gv\/1+ u?dudv = J.;”vdvjoa\/h u?du
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)y x?+y?+z7=a’
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2a
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R4
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N \/—
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=["dof F rdr—27zR (1——)

S(R)
' T 2
S'(R) =—(4aR -3R")
a
! 4 n 4
S'(R)=0 R:Ea S(ga):—27z<0 R=—a

2
max 27

o(X,y) =1z z:%(x2+y2),0£z£1
M = ”p(X, y)dS :%J.J'(x2 +y2) 1+ x? + y2dxdy

b T,
=1jz”d9jﬁr3\/ﬁ j 2l rgre = 1282
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(X,Y,2) X =

0,y=
”Zp(x y)dS ——”(x +y%)21+ x* + y*dxdy
:Z_[oz”dﬁjo rPvl+r drzzj0 “r414r2dr?,

1+r?

7B, o . 2.0, 66J3-4
zp(X,y)dS = — 2t =Dt°dt=——
Lj PO y)ds =7 [ 2(t* 1) 05 "
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l = =
M 749
596 — 45+/3 )
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(0.0,

x?2+y*+z%=a? (0,0,b) (0<b=a)
(x,y,2) ds
Gds

dF =
x*+y2+(z-h)?

F = F,

X

=0
J-I G(Z—b) ds

3
[+ y? +(2-b)*]2



X =asin ¢ cosé

y =asingsing VEG-F? =a?sing

Z=acosg
_ 2 e G(acosg —h)a’sing
FZ_J.O dejo Ed(p
(a® +b*—2abcos p)2
t=1/a’ +b® - 2abcose
b<a
. __7zGaIa+bb2—a2+t2 dt = , )
2 p? e g2 - —4”Ga, b>a
b2
2
b<a F=(0,00) b>a F=(°'°"4ﬂt§a)
8 u(x,y,z) M (X, ¥0.20)
S M R
1
T(R) = u(x,y, z)ds
®) 4nR2J;I( y:2)
1 LiI’TgT(R)ZU(XO,yo,ZO)
2 2 2
2 a°u Jdu 2°u 20 R0

oxt oy? T
T(R) —u(X,.Yo.2,)
1 ux,v,z2)  M(Xy,¥,,2) Ve>0 3J6>0
J =)+ (y = yo) +(2-2,))* <&
u(X, y,2) =Xy, Yo, 20)| < &
R:\/(x—xo)2+(y—y0)2+(z—zo)2 <0

1 1
pprs L_[u(x, Y,2)dS —u(Xq, ¥y, 2,)| < o Lﬂu(x, Y, 2)—U(Xy, Yo, 2)|dS < &

(X0,Y0,20)

Li_r)‘gT(R)=U(X0’y0’Zo)
X=X, +R&
2 y=Yo+Rnp
z=12,+Rg¢

T(R) = ijju(xo +R&,y, +Rn, 2, + Rg)dS
47[2*

3= {(5,77@)\52 +1°+¢° =1}
[[&dS = [[ndS = [[¢dS =0
3 z z



ﬂfﬂds = ﬂngds = Hggds -0

[[£7dS = [[nds = [ ds = [[6* +o" +52)dS = S

' 1 , , ,
T'(R) = H[cfux + U, + U, 1dS
£

n 1 14 n 14
T(R) = [[Te?u +n?uj, +¢2us, + 28y + Equ, +nuy;)]ds
/)

R=0
T'(0)=0
2 2 2
T"(O)=% Z l2J+Z: l;+Z lZJ
X y z (X0+Y0:20)
Taylor R—>0 T(R) = U(Xq, Yy.2,)

R? 2%u J%u A%
ry PN P
6 ox° 2oy° oz

(X0.Y0,20)

X2 y2
) Z 42X 472=1 >0 VD> P(x,Y,2)
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o(X,Y,2) 0(0,0,0) a
v
X2 yZ ) N
— 47 =1 P(X,y,Z) n:(xayazz)
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XX +yY +22Z =2
VA

2

p(X! y,Z) =
VX2 +y? +47°




X =+/2sinpcoso
y= V25sin psing
Z=C0oS¢@

\/xz +y2+4z% = \/Zsin2¢+4cosz @

X,, = /2 cospcosé, Yo = /2 cospsin 6, z,, =-sing
X!, =—/2sinpsin @, yl, =+/2sinpcosé, z, =0

VEG—F? =sing,/2sin? ¢ + 4cos?

J'J';ds = J'Zﬁdej'fcoswsin @(sin® @+ 2cos? p)de _3,
s P(X,Y,2) 0 0 2
1 2 2
Y ZI=—=4/2—-X" - X
N y y
z 1 2 .2 3
—————dS == ||(4-x" -y )dxdy =—7x
Lj p(%.y,2) 4!{ 2
10. = x> +y*+z° =1
[[ f@x-+by+czyds =2z’ f(uva? +b? +c?)du
z
a,b,c f(u) |Julgva®+b®+c?
Xyz — X'y'z'- z'
;(a'blc)
va? +b% +c?
) dsS z (x,y,2)

(x',y',2) ax+by+cz=+a®+b?+c?z
Hf(ax+by+cz)d5 =Iff(\/a2 +b% +c?2)ds

b3 b3
X

X'=sinpcosd  y'=singsing  z'=cose

VEG-F? =sin
@

[] £ (ax+by+c2)ds = joz”dejo” f (a? +b? 1 ¢2 cos p)sin gdg

)



_ 2;;]_11 f(uva? +b? +c2)du

11 h(t) t
cm h
2 2
2= h(t) - 2% Y
h(t)
0.9
130cm

he)

2 2 2r N2
V(t)=jj(h(t)—2(x oy )]dxdy: [do | (h(t)—irZerr:%hS(t)

h(t) h(t)

s =] [+2/ +2/%dxdy = %H\/hz(t) +16(x% + y?)dxdy

h(t)

2z f
! [do [ Jh*(t)+16rrdr :%W(t)
0 0

~h)

av__9 (M) =-23 _
w1050 () =-15 h(0) =130 (cm)
_130-33
h(t) =130 -7t
h(t) =0 t =100 (h)
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